
Munich Personal RePEc Archive

The Effect of Easing Monetary Policy in

Regional Lending Markets in Japan

Nagano, Mamoru

Graduate School of Economics, Nagoya City University

February 2010

Online at https://mpra.ub.uni-muenchen.de/25335/

MPRA Paper No. 25335, posted 23 Sep 2010 15:09 UTC



��

�

�

�����������	���
��
���	
��
����	������
�

����	

����
��
���
�������
��
�

��

�

�

�������	�
����

	�
����
���������������

�

�

� �

���������������������������������������������������

�� 
�����������
��������������������	�
����
��������������������������������������

	�
�������� !"��#������$�%&'�(：) ��!*� �*�!�+���,���%-����
���.�/��0��
����/�0�/01��
�

$��������������2�����������������������/�������������������%���%�/��������������

�������0�
$����������/����������/��%%������������3����
���������������������4��
���'��������������
5����������,/�����/������'����/�0� �



��

�

�����������	���
��
���	
��
����	������
�����	

��

��
��
���
�������
��
�

�

�

�

�

�����
���

�

$�����������������
�����������/��������������������������
����������/������

��� ��
����%� �/�������� ������ �����
� ��������� /���������0� $��� ��%%�6��
�

����%���6����������/�%%���3��������������3�������� ���������%���������������

��� ��
����%� ����� ��� ���� *"""�� ��� #����0� $��� ������ ����%�� ��� ����� ������
�

���������
����%%����/�������6�����������%����������������������/�����%����/2�

��� %��
�0� $���� ����%�� ��

����� ����� ���������%� �

%���������� /���%�������

�����
���������� ��%�/�� ��� ����/�� ��
����%� ������
� ������0� $��� ��/����

����%�� ��� ����� ��
����%� 3��2��
� ���������� ��� %�����
� ���2���� �%���

/�����3����� ��� ��� ��/������ ��� ���� ������
� ������0� $���� ��

����� �����

�������������3%�� ��7��������� ��� ���������� ����%���������� 3�� ��%��%%��� ���

����/��������
����%�������
�������0� �

�

#,8�
%������/������
���-�9����9�*��:*��

;��6����-�9�
����%���%�/���9�
����%�<��2��
����2���������������%�/��

�

�

��� �
��	�����	
�

�

� =�� #������ �� ����� ��������� ����� ���� 7������������ �����
� ���������

��%�/��/��������� ���� ���� ������������������������
�*""�>*""!0�$������%�/��

6��� %������ ���*""!�6�������� #���������/���������6�����
������ ��/�������

3���� ��� ������/�� *""?�� ���� ��%�/�� ��������� ����� ���� �
���� ��/%����� ��� �����

���/���0�@� /��/���� ��%����
� ��� ����� ��%�/�� ����� ������/�����6�������3%�� ���

��%��������
������������������������������������������-�6������%�/�����������

����%�� 3�� ���%�����6������������� �����
������ ���� ����/�� ���� ������
�

������A�B���/����
� ����� C%�7������� ����D�6��� ������� ���������� ���2� ����

���� #���������/��������%�/����2���� ��� ���� ��������%����� ����*"""�0� =�� ��/���

����/����
�����%�7����������������3������/��������%�/��/��/�����/������%%�

��1������������%�����/������������/��*"" 0�

� =�� #������ ���� ����� ��������� ����� �/������ ���� /��������� ����

%��
�����������������������/��������������#�������������/��%����2�����
����

����� ��� �� ����������� �����0� $��� ������� 3���
� ����� ���� /��������� ������
�

������� ���6�� %���%�� ��
��� ��� ��/������ ����� ������ ��� �(������ �����
�



��

�

�����������%�/�����������/���������������%��
������������0�E������/�3��2�

������/�����
� ���� �������/� ����/����%� /���
��� ��� ���� �����/��%� ����������

6��/��3�
�������?? ���%�����������������������������������60�
���%���6����

���� ����/�� �����/��
� ������ ��� ���� 3����6����� ���� %���>�������� ������ ��� ����

��
����%� 3��2�� 6��� ������� ��6�� ��� �� �"F>�"F� %���%�� 6��/�� ��� �� *"F�

��/���������������%���>��������%���%�����?  0�

� B��������%����+"���������������3�/����/������������
����%�3��2�����

#���������3���3��������%�������
�������/����
����%������������2�����6����

/��/%����
� /�����/��%� %�����
� /�����/��� 6���� ������ ��� ������ ����������

/������G�0�0��$�2����B��2�������	�
���H0�$��������������������3����������/��

�����/��
��������������������������/������ ��/������� ������
����%�3��2�������

����������6�/%�����0�@��������%���������
����%�3��2�������3���������
���������

��6� 3����6���� ��� %�/�%� ���2���� ���� �����/�� ������ ��%���������� 6����

��������%� /%�����0� �����������%��� ����� ���� %���� ���� ������� ��
����%� ������
�

������� ���� �%������ ���� ��� ���� �3���� 3��2��
� ������/�����
� ���/�����0�

$�������������
���������/�������/���������������/��%���
����%���/���������

���������������
���������������
�������
����3������
������������������

�����/���������#�������������������������%��������������/�������%�6����������

������/�����0�

� $�������������������������������(����������������%%�6�0�$������������

����� 6�� ������������ ���� ������������� ���/���� ��� �����
� ��������� ��%�/��

���������������
������%�������������� ������������/�����%����/2� �������
�����

��
���0� $��� ��/����� ��� ���� ���������� �(�����
� %���������� ��

������ ��� �����

������
��������� ��� ������
�����6����� ���������������������/�����������

%�2�%�����3�������%�����3����/��������������������0�I����
��������������3����

�6������������������
����%���/�����������������������������0�$�����
����%�

��/�������� ��������%������������%������������0�$��������������%������������

���� ���� ���3�%���� ���� /��������������� ��� ���� ��
����%� 3��2��
� ��/����0�I��

�������� ���� �3���� �����/��%� ����%������� ��7���������� ���� ��/������� ���

����/������������
��������������������/��%������0�

� $����������������������������(���/�����0�$�����������������������/�����

��/����0�=��������(����/������6�������6�%������������%����
�������������������

�������6���6������������/�����3�������������(�����
�3�������%���������0�=��

��/����� ������� 6�� �(�%���� ���� ������������ ������/�%� ����%��� ���� ����

������/�� �������%����
�������������
� ��������0�5�/����� ������(�%�������6�

6�� �3������� ���� ����0� =�� ��/����� ������6�� �������� ������ ����� ��� ������/�%�

����%���3�������������������%�
��������(�%�����������/����������0�'���%%������

��/�������(�6�������������/��/%���������������������/�%�����%��������%������

��/���������0�

�

 �� � !
����	�
��

���"����
�������
�����

�



��

�

� $����� ��� �� ����� ������� ��� %���������� ���/�����
� ���� ��%����������

3��6���������/��%����������������������������������������/����������������

��%�/�0�:������������
���
�G�?�?H��$��%�G�?��H��<�����G�?��H������:��������

���� ;���� G�? +H� ����� ��/����� ������ ������/�� ��� ���� ��%���������� 3��6����

��
����%��/���������������������%�/�*0�B��������������������������������

%���������� ����� ������� ���� ��%���������� 3��6���� ��
����%� ���������/������ ���

3��2��
����2���� ���� ���� ������������� ���/���� ������������ ��%�/�� ��� ����

%��
�0�@���
������%%����3������������������/��������������������
��������

�����������%%�6��
���������
����%���/�����������
��������������
����%�������
�

������-��H���������������%����/�������������
�������������������*H�����������

���������/�����
��������������%%����������������������������������+H�����

���3�%�������������
����%�3��2��
���/���0�

�

@0� � =��������,%����/�������'�����
�E�����������:�����9�
����

�

� @��
��%��������E������G�?? HG�???H�������������������������/�����

������������������
������������%����/�������������
������������������������

��
����%� ��/���� ����� �����%����� ������
� ������� ��� ���� �/�����0� =�� ������

6��������������������������%�����3����/��� ��� ����������������3��������������

���0�$�����������������3����������������%����/�������6�����2�������/�������
�

�����
������������%�/��������������������������������%����/�������������
�

������0�

� $�����/����������������
����%���(��������� ����������������3�/����

��/������
%����%������������ ���� %���� �6����������0�'����� ���$�2�����������

���
�3����
� �����/������ �/����%�� ��/������� ������������ ���� /����7����%���

�������� /�����%� ���/2� �����
%�� ��/������0� '�����
� ������� ���� ������

������������6�����%�������� �����
� ��� ����$�2�������0�B�� ����������������

������ ��������/������6����� ������ ��������%%�������%����������6����� ��6���

���������%��

%�����������6��������� ������ �������������/�%�� ��� ����/�� ����

������
�������0�$�������������/���������
����%��/��������6������#����������

����������%����/�������������
��������������
����%����������%��

%����������

��������3��/����%����0�

� =�� ���� �����??"��� 
��%���� ���� E�'���� G�??!H� ���%����� ��/����

������
�������� GJ@9H� ��� ������ ������/�%� ���%����0� 5��/�� ������ �����

�������%�
������3�/��������������/��������/�����%����������������%�����

�/�����/�0� B��� ��� ���� ������� ��� ����� �������%�
�� ��� ����� ��� ���3%���

������/����� ����(������/����%����������
������3%��0�'��������������5/����

G*""+H��B6���
�����I�%%�G*""!H������5/���2�G*""�H����%�����
��%��������

E�'���K�� G�??!H� J@9� ����%� ��� �(������ ���� ��
����%� �������������
���������������������������������������������������

�� $�����%����������������/����%���(���������
�����
�������������������5������������������
���%�/���������6��������������������������
������������%�/��3��'�����%�9�������<�����
6�����������������/�����������
����0�



��

�

��/������0� 
��%���� ���� E�'���� G�?? �� �???H� ���� �%��� ����%����� ������

�����������������3�����������
�������
����%����������������
�������0�

� $������%�/������������
��%��������E�����K��G�?? HG�???H�6��2�/���

��%����� ��������������6���� ��� ��������
� ��� #����0�@//�����
� ���
��%����

����E������� ����������
����������� ���������������%����/�������������������

����������������������%��

%���������0�=����
����%����������%���%�/������3����

��//�����%� ��� ���� ��
����� ���� �//���%����� �������� /�����%� ���/2� 6�%%� 3��

��%�����%��%��
������������6�%%��%���3����������������
�����������������0�=��

��������
���������3��2�%�����
�������%�6�������6�%%�%�2�%������/������������
�

����������������
����%������0�

�

<0� 9��������������/�����
�'���������5�,���������9�
����

�

� $��� �(�����
� %���������� ����/����� ����� ���� ������ ��� ������/�����
�

�������������%%�����������������������G5�,�H������������%����3������������

�������
�����%������%���/���������
����%�������
�������0�$������������������

����
����%� ��������������� %��
��������3���
���%�����%�� ���������������� ��� ���

����//�����3�%���� ��7��������� ���� ���������0�@���� ����%��� ������������������

������
��������%�
��������%�3%�����%��
�������0� �

� =�� /���� ����
����%� ������������ ��� ���� ��
����%� ����� ��� ����

��������������������������%�����������
��/��/���������3��/�������3���������

/�%%�����%� ������� ��� ���� 3����6���� ��� ���������
� �������� ��� ���� �����/��%�

��������������0� $��� ������ ��� ��(��� ������� ��� ����%� ������� ��� ������/�����
�

������ ��� 
�����%%�� ��
���� ����� ����� ��� ���� ����������/�����
� �����0�

$���������� �3������
� �����/��
� ������/��� ��� ������� 6���� ���� ��(��� �������

���������
����%������/�%%�����%0�8���������������������������3�/2
�������������

��%���������� 3��6���� ������/�����
� ����� ������ ���� ��
����%� ������
�

������0�

� :�����%%���5�,�������������������������
��������%�
���0�$����

������ ������� ��� 3��2� 3����6��
�� ���� ������ �(�����%� ������
0� $����������

������
� �������� ��� ��
����� 6���� �� ��
�� ������ ��� 5�,�� ���� %�2�%�� ��� 3��

����/���3����/��������������������0�@//�����
����<�����2��G�??+H��<�����2��

����<%������G�?  H������:���%�������:�%/������G�??+H�������%������������������

���� /�����%� 3��2K�� ��������� ��%�/�� ��� ��� ���%���/�� ���� 3�%��/�� ������ ���

�����/��%���������������������
����/���
�������%�/����������������0�@�/���
��

��� ���� 3�%��/�� ������ ��� �����/��%� ��������������� �%������%�� ���%���/��� ����

3�%��/���������������3����6���0�

� :�����%%��� ���� ������ 6���� �������� ������
� ���%�� ���� %��
�� �������

6��/����/%�������3%�/%��%�����������0���������������%��
������������%�/��������

�������%����������0�B������������������ ������ �����
����%���������������%��

��%������ ������ ���� ���%%� �����0�@��B%����� ����9���3��/�� G�??!H� ��������

����� 3��2� 3����6��
� ��� �� ����� ������
� ���%� ���� ��
����%� ������� ���� �����



��

�

������
� �/������� ��� %�2�%�� ��� 3�� ���%���/��� 3�� /���
��� ��� ��������� �����0�

@%����
��/�����/��%�3��2���������2��/���������/������ ���2��� ��� �����/�����

���������
������������%�/������/�%�������%�������
����%�������
�������0�

�


0� 5��3�%�����������9�
����%�<��2��
����2���5�/����

�

� @�������������������
����%���/����������������%���/������������
�

�����������������3�%���������
����%�3��2�0�9�����/������������

�����������

3��2� ���3�%���� ��� �� ��
���� ���� ���%���/�� 3����6���K� ��(��� �����������

�/��������0� $���� ��� �� /�����������%� ����/� ����
� ������/����� ��� ����� ���%�0�

;�����������5�����G�??�H���

����������������
�%��
��3��2������������6�

��
����%�3���/����6��%��/������������������%���/���������/�����/��%�%�����

3�/���������%��
��3��2��
�����%%�����������
��/�����6���������0+�

� I�� /�������� ��
����%� 3��2��
� ���3�%���� ��� ���� ��� ���� ����������

��/��������� ����/��
���
����%�������
�������0�L������G*""�H��������������

��������/�����3��2� ���3�%���� ���� ���� ��
����%� �����/��%� ��������������0�I��

�%��� ������ ����� ���60� =�� ��������� ��� ��
����%� 3��2��
� ����������� ��
�����

6���� ��������� ������ �3��������� ����� �������� %�6�3��2��
�/��������������0�

@�� 8��� ���� 	�
���� G*"" H� �������� ����� 6��%�� ����� ��
����%� %�����
�

���2������������/����������� ��� #�����������%%����3������ ��
��������������

/��������������������%�����
�������������%�����%����
�������������
����0� �

� <���/�%%��� ���� ����� %���������� ����/��� ��/��� ��� ���� ��%����������

3��6���� ���� ��
����%� ���������/������ ��� 3��2��
� ���2��� ���� ��
����%�

������
�������0�L��������;���2�� G*""+H� ����	���� G*""�H����/������ ����

��%���������� 3��6���� ���� ���������/�� ��� ���� ��
����%� 3��2�� ���� ����

��
����%� �/�����/� ������0� L���� ���� ;���2�� G*""+H� /��/%����� ����� ������

6���� ��� ��������/�%� /����%������ 3��6���� ��
����%� 3��2��
� ���3�%���� ����

��
����%� ��/���/�����/� ���������/�0� @%���������%��� 	���� G*""�H�

/��/%���������������/�����������
����%�/�����/��%�%�����
�/�����3����������


��6��� ��� ���� ���������%� ��/���0�L�6������ ��������L���� ����;���2�� G*""+H�

����	����G*""�H�����������������%����������3��6�����������������/���������

����3��2��
����2���������������������������/����������������������%�/�0�

�

#�� � �����
������$��	�������

�������%�
��	
��	����

�

� $�������������������������6�������(������������
����%���/����������

��
������%���/����������������%����/�������������
�����������#����0�I��������

���������������������������������������������������
�� =���������
���������������������6��������������L�%%�G�? *H�����������������/�����3���������
��� �����(�����
���
����%�3��2��6��������� ���������� �������6���������3�� %��
��3��2�����/��
������
����%�3��2������%��
��������%����������6����3����6�������������
��������������6����
��6������������/����������������3%���0� �
�



��

�

���������������
����%���/����������6����������/�%%������������3�������(�����
�

%���������0� $����� ��
����%� ��/����� ��/%����� ���� ������ ��� ������/�����
�

��������������������
����������
����%�3��2����3�%���0�5�/���%���6���(�������

��6������3%�����������������3�������/��������������(�����
�%���������0�$�����

��
����%� ��/����� ��/%����� ���� �������� /�����%� ���/2� ���� ��
����%� 3��2��
�

/��������������0� I�� /����� ��� ���%��� ������ �����3%��� 3�/����� 6��

������������� ����� �����
���������� ��%�/�� ��� ����/�����6����� ���� �(�����
�

��
����%� �������� /�����%� ���/2� ��� %��
�0�I�� �%��� ������������� ����� �����
�

�����������%�/��6��� ����/�����6������
�� �������������� /���������������

��� ���� 3��2��
� ���2��� ��������� ���� %�6����
� ��� %�����
� ������ ��� �����

��
���0�

 

�
),...,,,...,,( 11 n

jtjt
m
jtjtitit ZZYYXfI �

� G+0�H
 

�
),...,,,( 1 n

jtjtjtitit ZZRIgX �
� � G+0*H

 

�

� L�����������������������K����(����������������������������������������

������K�����������%���/������������%���/���������(�������������������������������

����������������/�������������%���/����������K��������
�������������
�������

��������%�%�����
���������������6��������
�����	�����4���������������/����������

���%���/��%�����
�3��������������
����%�3��2��6��������
�����0 

 

�
0,0,0

22
�

��
��

�
��

��
�

ZR
X

R
X

YX
I

� G+0+H�

�

� 5���������
� ���� �3���� �����%%� ����������� ��� ����� ������� ��

��/������ ��� ��������� ��������� ��������� �������%� ������
� �3�%����� 3��� ���

�%���� ����� ���� ����/�� ���� ����K�� ��(��� ������ ����������0� I���� ����

��/������� ��
����%� /���������� ���� ��%��%%��� ���� ����������� ���������%%��

��/������0� $�� �(������ ���� �3���� ������������ ����� ������ ���%����� ����

��%%�6��
�������/�%��7�������0�

�

� ���

������

����

�������

2
76

543210/

DIRDIRMFG

DIRSTKDERASSETDIRROAKI
�

G+0�H
�

� � � � �  

	





 ���������� 2
543210 / RIRICMPRICARRIKIDIR � �

G+0!H�
E�������������,���
������J����3%���
�
�-� ��(��� ���
�3%�� ������ ���� ��/������ G/������� ����H� �%��� �����/������� �(������ G/�������

����H���������3����(������
�3%���������G�������������H�����������
���-� ������������������G/�����������H���������3������%�3��2�%����G/�����������H�����������
�



	�

�

=�����������J����3%���
�
�-� �����������G�������������H���������3������%�������G�������������H�����������
�����-�������%�%�
��������������%�������G�������������H�����������
���-� ����%���3��G�������������H���������3������%�/�����%�G�������������H�����������
���-� �������� ��
����%� /�����%� ���/2� �������� 3�� 
����� �����/����%� �����/�� ��� �����/����� ��

6�����������K������7�����������%�/�����
����M����-��������/���������3%��3��6��������G�������������H���������G�������������H�
���-� ������%�
����������/����%������/�������������/�����
���/�������
����������/����%� �

�����/����������/�������6�����������K������7�����������%�/�����
����M����-��������/���������3%��3��6��������G�������������H���������G�������������H�
��-� �����%������
����������������������%�����
�������������������������������������/������

���/�����������/������(���������/�������6������������������7�����������%�/�����
���-� 6��
����� �����
�� ��� /�����%� ���7��/�� ������� ��� /�����/��%� 3��2�� ��
�������� ���

	������%�<��2��K��@���/���������������/�������6�����������K������7�����������%�/�����
����M���-��������/���������3%��3��6��������G�������������H��������G�������������H�
���-� L��������%�L���/����� =���(� ��� ��
����%� 3��2� %�����
� ����������
� ��� �����/����� ��

6�����������K������7�����������%�/�����
����M���-��������/���������3%��3��6��������G�������������H��������G�������������H�
�
�

� $����3�����7����������������������3�� �6�����
�� %������7����������

����%�������� �7�����������%��6���� �����������%� �����3%��0� =&;� ����E=9�

���������������3�����������������
�����%���6��%�����������������3%�������

���� ��� �����������%� �����3%��0� @%%� ���� �����3%��� ���� ������ ��������/��� ���

�%�����������������3%�����������%����������/��0�

� @�� ���� ���� �������� /�����%� ���/2�� 6�� ����� =���2�6�K�� G*""+H�

�������%�
�� ��� ��������� ��
����%� �������� /�����%� ���/20� =���2�6�� G*""+H�

���������� ��%���� ��� �������� /�����%� ���/2�� ��� ���� ������������ �����/������

3��6���� �? ">�??�0� I�� �(������� ������ ��%���� ��� *""�� 3�� ����
� ����

��%%�6��
������%�- 

 

tjtjtjttjtj IPpDPaSTKSTK ,,,1,, /)1( ����� � � G+0�H
�

 
���������
���������� /�����%� ���/2� ��� �����/����� �� �� ���� /����������� ��� ����
����������
��(��� /�����%� ���/2� ��� �����/����� �� �� ���� ����
���������� ��(��� /�����%� ���������� ��� ��/��
�����/����� �� �� ��� ���%����� ��� ����
���������� ��(��� /�����%� ���������� ��� �����/����� �� ��
�����1������������������

�

� I��/�%/�%��������%���%�����������
����������/�����%����/2�������/��

�����/����� ���� ����� /��������� ������ ��� ������%� ��%���0� $��� ��1��������

���������������6����3������������=���2�6�K��G*""+H�6��20�B��������������

�(��/����������%%�6��
���������������
����������%��������7�����������%��+0��

����+0!0�

�

� �
&���
��
��'
��
�����

 
&�(

��)���*�
'�(���@�����

)������)���*�
=��������




�

�

=����������&�
'�(���$��
�3%��
@�����（�
�） 
 

���������&�
<��2�8����
G���H 

�
�
����
��
��'
��
����*�
�
�
�	��
	���'
��
�����
�
���'�(���@�����=����������&�'�(���$��
�3%��@������
�����=�����������������&�<��2�8����
�
�
����(�
��'
��
�����
�
���9���������@������
@55,$-�%�
����$���%�@������
E,9-�E�3�����,7�����9�����
���������=������/����J����3%��3��6����������������
���������=������/����J����3%��3��6����������������
�
����9��%�5����������������8�����
�9����
������-�=������/����J����3%��3��6���������������
������-�=������/����J����3%��3��6���������������

 

 
 

 

 

 

- 

 

 

- 

+ 

- 

- 

- 

 
 
 
 
 

 
 
 
 

+ 

 

 

 

 

 

 

 

 

 

+ 

+ 

+ 

 

 

�  

+�� &
�
�

�

� '����/��%� ����� ��� ��3%�/%�� ��%������ ������ 6���� �3������� �����

<����������E�12��=�/0����������%������������6�����3������������	�22���E����


�0� I�� �3������� ��
����%� /����/�������/�� ����� ����� ���� 
�3����� B���/���

	�22���E����
�0��	�22���
������/������� =�/0������$�������9������� =�/0�

$������3��������3%�/%����%����������%���6���� �� ������������������%������

������ 6��� +� *"0� '����� 6������ ���� �����/��%� ��/���� ��� 6�%%� ��� ���%� �������

3����������6���� �(/%����� ����� ���� ����%��0� $��� ���3��� ��� ���� ����%���

�����������������/���������������������@������(�@0�

� $��� ��
����%� 3��2� �����6���� �3������� �����	�22���	,,E��E����


�0�I�� �3������� /�����%� ���7��/�� ������� ����%� �������� ���� ������ ��/�������

����������������������
����%�3��2��
����3�%��������/������������������������

��
����%� 3��2� ����0� E���� ����� 	�22��� 
������/������� =�/0� 6��� �%���

��/%����� ��� ���� ��
����%� 3��2� ����0� $���� �����6��� ��/������� 3�/����� ����

%�����
� ����� ��� ��
����%� 3��2�� ����� 	�22��� 	,,E�� ��/%����� ����� �����

3�����������������������������
���������/��3��2K������7�������0�I���������

������%���%�����
����������������������/����0� �

� 9�
����%���/���/�����/������3%�����/�����������������/�����%����/2�

���������%�
����������/����%������/��G:��H������������������������/�����
�

��/����:����������%�:���6�����3����������������
�3�����B���/�0�L������/�%%���

������ ����� ����� 3���� ��������� 3�� ���� �����/����� ��
����0�I�� ��������� ��

����%���������3�����
��
������������������3�������������%�����K�������/��%�

������
����%�/����/�������/�����*""�>*""�0�



���

�

�

�

,�� �(�����
���

������

�

!0��� @��%��������9�
����%���%������'�����

�

� @//�����
� ��� ���� ,���3%�������� ���� ,���������� 
������ ��� ����

#��������������������@�����������
������/����������%������ �������//�����

���� ����� ����� ??F� ��� ���� ����%� ���3��� ��� ������������ ��� #����0� $����

��

������������
����%����������%���/���������%��/�������������%�������������

����/��%%�� 5�,�0� B�� ���� 3����� ��� ����� 3�/2
������� ���� ������ ������/�%�

���%����� ��/����� ��� ��3%�/%�� ��%������ ������ 3�� ���%����
� ���� �7�������

����%�����/�����������/�����+0�

� @���(�%����������������/����
���/������6�����%����������6�����
��

%������7��������������%���������7�����������%����������������/�%����%����0�

J����3%��� ���� ������ ��������/��� ��� ����� ���%����0� $��� 5=
� /���� ���

������/�����
�����������*""">+???��6��%��������������������/�����
�������

�����"""> ???������(/%����������/��%��������%��������������������6�����5=
�

/����������""">��??0�=��������%�������������������3�������������6����
���

5=
�/����0�������������������%��������0�

� $��� ������/�%� ����%��� ���� ��������� ��� $�3%�� �0� =�� /���� ��� ��%������

������/�����
� ����� ����%��N����%� G@HN���� ���������� ��� ���������

����������������%�3��2�%����G���H�6�������
����/����3������������������/����

�����3%�� 3��6���� �������� /�����%� ���/2� G���H� ���� ���� 6��� ��
�����%��

��
����/���0�$�����������������������/���������3%���3��6����������/�����
�

���������������G���H���������6����%�����
�����%����
����/���0�@%���������%���

6�����������������������3%����������������������������������/���������3%���

3��6���� ���� 3��2K�� /�����%� ���7��/�� ������ G���H� ���� ������ %�����
� �����

G��H� 6��� ��������%�� ��
����/���0� $��� �������/����� ��� �����3%��� 3��6���� ����

3��2K��/���������������G���H��������6����%�����������%����
����/���0�

� B��� ����������� 6���� �%��� ���������� ��� ���� /���� ��� ��%������

����������/�����
� ����� ����%��N����%� G<H0� $��� ���������� ��� ����

�������/���������3%��3��6�������� ��������6�����
�����%����
����/�����3���

���� ���������� ��� �������/���� �����3%��� 3��6���� ���� ���� ���� 6���

����
����/���0�$���������������� �������/���������3%���3��6�������� �������

6��� ��������%�� ��
����/����� 6��%�� ���� �������/����� ��� ���� �����3%�� 3��6����

�����������6�������
����/���0�

�



���

�

$�3%�0��� 9�
����%�'�/����������=��%���/��9�
����%�'�����
�E�����-���%������

'�����

�

-	���-� � OOO��OO��O�����/������
����/��/������F��!F�������"F�%���%�����/�������/��������/����%�0�

�

�

!0�*� @��%��������9�
����%�8������'�����

�

� $���������/�%�����%������%�������������������6�����$�3%��*�����������

G@H�������/�����
�'���� G�H�E��0�J��0P�=&; G3H�E��0�J��0P�E=9

,��-�'�����E�������/��� ,��-�'�����E�������/���

,���
������J����3%�
�E=9 "0��� G�0��"H
�=&; �"0*�" OOO G�� 0�!"H
=�����������J����3%��
�9B@ �"0��? OOO G��0�+"H
�@55,$ �0�*! OOO G*�0*�"H
�E,9 �"0 �? G"0+��H
�E=9O5$; �*0 �* OO G�*0��"H
�E9=O�': �"0�*? G��0��"H
�E=9Q* �"0*+* OO G�*0" "H
�9= �0**� OO G*0!!"H
�9=O
@9 "0"�+ O G�0?+"H
�9=O
�� "0"* OOO G�0�!"H
�9=Q* "0�+? OO G*0�*"H
������E������ ��� ���
�=��������%�E������ ��� ���
�
���� "0��� OOO G�0��"H "0� � OOO G�?0�+"H

I�%��
��* ��!�*0�� OOO �!�0? OOO
B3���������� �?�*"! �?�*"!
'����  ��?�  ��?�
9��7����� "0"+* "0""�

G<H�	���������/�����
�'���� G�H�E��0�J��0P�=&; G3H�E��0�J��0P�E=9

,��-�'�����E�������/��� ,��-�'�����E�������/���

,���
������J����3%�
�E=9 ��0��� G�"0?*�H
�=&; �*0��? OOO G���0* "H
=�����������J����3%��
�9B@ �"0+"� G�"0?*"H
�@55,$ �0!"+ OOO G�*0�?"H
�E,9 �"0!�� OOO G�+0��"H
�E=9O5$; ��0*+� O G��0 �"H
�E9=O�': �"0*!� G�"0 �"H
�E=9Q* �+0?�� OO G��0 �"H
�9= *0++� OOO G+0 �"H
�9=O
@9 �"0��+ G�"0� "H
�9=O
�� "0� � OOO G+0�""H
�9=Q* "0�+? OO G*0�*"H
������E������ ��� ���
�=��������%�E������ ��� ���
�
���� �"0��� OOO G��0� "H �0�** G"0�!"H

I�%��
��* *+"0?" OOO �+"0? OOO
B3���������� ?�??� ?�??�
'���� !��?" !��?"
9��7����� "0""+ "0"" 



���

�

��

���� ����� ���� ����������� ���� ������%�� ����������� ������/�%%�0� '������

����������� ���� ���� �������/���� �����3%��� 3��6���� ���� ���� ���� 6����

��
����/���%�� ��
������ 6���� ���� ���������� �����3%�� 6��� ��(��� ������

�����������G=&;H0�$�����������������������/���������3%���3��6������������

������� 6��� �%��� ��������%�� ��
����/����6���� ���� ���������� �����3%��6���

���0� $����� ����%��� ���� /������ 3���� ���������/�����
� ����� ����%��� ����

����������/�����
����������%��0�

� $��� /����� ��������/��� 3��6���� ���� ����%��� ��� %������ ���� ��%������

������ ���� ����� ����������� ���� ���� �������/���������3%��� 3��6�������� ����

����6��������
����/�����������/�����������%���������������%��0�$�������������

��������������/���������3%���3��6�������������������6����%�������
����/���0�

I��������������������%�������������
����%�������3�������������%���������������

���������� ����� ����� ��� ��%������ �����0� =�� ������ 6������ ����� %������ ������

/��/�������� ��� ���� $�2��� �������%����� ����� 6����� ������/�����
�

���������%������������%�����%��%�6�����������
�������3��2��
�/���������������

�����
�0� �

� I�� �%��� ���%����� ���� �6�����
�� %����� �7������ ���� ����%��������

�7�����������%�����������������/�%����%����0�J����3%���������������������/���

��� ����� ���%����0� $��� $�2��� 5��/2� ,(/���
�� =��������%� 
���� ����

������/�����
� ������ ���+"!">+ ""����� ����� ��������������/�����
� ����� ���

�"!">��""�� 6��/�� �(/%����� �����/��%� ���� ���%� ������� ����������0� =��������%�

�������� ���� ������ 3����� ��� ���� �������
��� $�2��� 5��/2� ,(/���
��

=��������%�
���0������������������*""�>*""���������������6�%%0� �

�

�



���

�

$�3%�0�*� � 9�
����%�'�/����������=��%���/��9�
����%�'�����
�E�����-�8������

'�����

�

-	���-�OOO��OO��O�����/������
����/��/������F��!F�������"F�%���%�����/�������/��������/����%�0�
�

�

!0�+� 9��,(�������������=��������,%����/�������'�����
�E������

�

G@H�������/�����
�'���� G�H�E��0�J��0P�=&; G3H�E��0�J��0P�E=9

,��-�'�����E�������/��� ,��-�'�����E�������/���

,���
������J����3%�
�E=9 "0+ + G"0� "H
�=&; �"0�*? OOO G�*�0"�"H
=�����������J����3%��
�9B@ �"0��� OOO G�*0��"H
�@55,$ �0+�� OOO G*�0*�"H
�E,9 "0+ ! OOO G!0�""H
�E=9O5$; �"0�+� O G��0�!"H
�E=9O�': �"0"  G��0�""H
�E=9Q* �0+�" O G�0?�"H
�9= �0  ? G"0�!"H
�9=O
@9 "0"!! O G�0 +"H
�9=O
�� �"0"" G�"0� "H
�9=Q* "0��� G"0 +"H
������E������ ��� ���
�=��������%�E������ ��� ���
�
���� �"0"?! OOO G� 0!*"H �"0�"" G��"0!+"H

I�%��
��* �*!0�* OOO �� 0� OOO
B3���������� �*�"!� �*"�! �
'���� *�!�� *�!��
9��7����� "0"" "0""�

G<H�	���������/�����
�'���� G�H�E��0�J��0P�=&; G3H�E��0�J��0P�E=9

,��-�'�����E�������/��� ,��-�'�����E�������/���

,���
������J����3%�
�E=9 "0!�* G"0+�"H
�=&; ��0"�� OOO G���0*?"H
=�����������J����3%��
�9B@ �"0!*? OO G�*0��"H
�@55,$ "0 !� OOO G�*0�!"H
�E,9 �"0��* OOO G�+0�""H
�E=9O5$; �"0�?� OO G�*0*�"H
�E=9O�': "0� + G"0*!"H
�E=9Q* �0+�" G�"0��"H
�9= �0�+� G"0��"H
�9=O
@9 "0+�� O G�0�+"H
�9=O
�� "0��+ G"0" �H
�9=Q* "0""� G"0� "H
������E������ ��� ���
�=��������%�E������ ��� ���
�
���� �"0� + OOO G� 0* "H �"0�!! OOO G��0��"H

I�%��
��* *��0�� OOO *�*0� OOO
B3���������� !�? * !�? *
'���� ��*�� ��*��
9��7����� "0"?+ "0""!



���

�

� ,�����/�%�����%��������������������6����/������/���%���%����������

��������������� ����� ����������

%����������������
��3��2��
�����������

�����6����/�������/�����������������/��������(���������������������������

��������������� �����
� /���������0� $���� ��/����� ���(������� ���� ������/�%�

������ ��� /������� ��� ���� ����%��� ���� /������ 6���� ��� ��� ��������� ����
�

���������%� ����� ������ 3�� ��
���0� I�� ���������� ���� ��������� �%����/���� ���

������
� �������� ��/�� �
���� �//�����
� ��� �����/����0� @%����
�� 6��

�����������������%����/�����������/������!0�>!0*���������/�����������������������

������
���0�I�����%�����������%%�6��
�������/�%�����%0�

�

�


 ����� ASSETROAITRconstKI 321/ �� G!0��H�

�
�
��� '�(��� ���
�3%�� ������ ���� ��/������ G/������� ����H� �%��� �����/������� �(������ G/�������

����H���������3����(������
�3%���������G�������������H�����������
���-� =�����������������G�������������H���������3������%�3��2�%����G�������������H�����������
�
�-� 	����������G�������������H���������3������%�@������G�������������H�����������
�����-�$���%�������G�������������H�����������

�

� $��� /��/���� ��� ���� �3���� �7������� ��� 3����� ��� ����� ��� G+0�H0�

L�6������ �����3%��� ��� ��������� �

%���������� ���� ��
�� 3��2��
� ���2���

/����������� ���� /�����R� ����� ���� ����� ��/��� ����� ���%����� ����� ��%�� ����

����� �����/����� ��� ��/�������/����0� $����������6�� ������ ���������� G!0� �H� ����

������������ �����/������ ���� /�������� �%����/������ 3��6���� ���� ��
�����

�����
���
������������

%��������������3��2��
����2���/���������������

����������0�

� @%%� ���������3%��� �(/�����
�� ���� /��������� ���������%� %�
������0�

I�� ��
���� ����������������� ���� ��� ��������� �%����/������� ������
�������0�

'������ 6�� ��������� ���� �������� ��� ���� ����%�� ������ ��� ���� ������������

�����/�������������������������3�����7�������6������(�������/�������������

����/�� �����������0�I�� ��������� ������� 3����� ��� ���� ������������ �3�������

�����L������� 5��/���/������ $���� ���� <������ ��
��� 8��$���� ��� $�3%�� +0�

$��� ����%��������� ��� *""+>*"" 0�$��� ���������������3������� �����<������

���� E�12�� =�/0� ���� ���� ����������� ����� ����� ����� ��%������ �����0�

=����������������3%��������� ����� ���� ���� ���%����� ��������� ��� �%��������

���� ���%���/�� ����� ���� �������%� ������
� �3�%���� ���� �/�%�� ����/�0� 5��/�� ����

���������������/�����
� ����������� �������
������
��� ���%���/�� ������
����%�

������
�����������������������%������������������0�

� $�� /������� ��������� �%����/������ ��� ���� ������
� ������� 3��6����

��
����������
���
����������/�����%����/2�����3��2��
����2���/�����������

���� ���� �������� 6�� /�%/�%����� ��� �����/��� ���� ���������� �/����� ��� ��������

/�����%� ���/2����� /����������3��2��
����2���L��������%>L�������� =���(��

3�� ��
���0� $����� 6�� /������� ���� ��%���� ��� ��������� �%����/���� ��� �������



���

�

3��6���� ������
���������
���
������ %�6������������/����0�,�/������������

�/����������6�����@������(�
0�

� $��� ����%��� ���� 
�����%%�� /���������� 6���� ������ ��� +0�>+0*0� 	����

�����/������ ��� ���� ���� ���� ���������� �/���� ��
����� ����� ���6�� ����� ����

��������� �%����/������ ��� ������
� ������� ���� ��
����/����� 6��%�� �6��

�����/������ ��� ���� %�6���� ���� �/���� �����/������ ��/������ ��
����/��/�0� $���

������ ��������� ��%���� ���� ���� ?!� ���/���� /�������/�� �������%� ���� �%���


�����%%����
��������������"������������/���������/�����0�$�2������������%��

�(/�����������
����� �����"���
����0�I��3�%����� ����� ����� ����%�����
�������

������������������/���������/���������������
�����������
���N�0�0������������

�������/�������/��
0�

�

$�3%�0�+� � � =��������,%����/�������'�����
�E������,���������3��=��������%�

'����E�������*""+>*"" �

�

G@H�$���$��������/���������9�
����%�E���������J�%��������������
�����%�5��/2�����

<��2��
����2���LL=�

�

-	���-� � �

�0�OOO��OO������O�����/������
����/��/������F��!F�������"F�%���%�����/�������/��������/����%�0�
*0�$���������������/������6��������CG3H�?!F�
���0�=������%0D���������%�6�������������3�����

��������������%������������������/����%�0�
+0�$���������6��������CG
H�'���������B3����������D������������3����������%����������������

%�6�����6������/�����������3�������3����������0� �

�

G<H�$���8�6���������/���������9�
����%�E���������J�%��������������
�����%�5��/2�

����<��2��
����2���LL=�

@�/�� �"0"��� O �"0�!�" �0"��+ OOO "0*� � OOO �=����������� '�(�� ��***
G"0"���H "0""�* G"0"�"�H G"0�""!H ���������  �**!

$�2�� �"0"!�* �"0�++? "0+!�+ "0?**� OOO �=����������� '�(�� !����
G"0"+?�H "0"�?� G"0+� �H G"0"?*?H ��������� ?�?�!

5�����2� �"0�"�! OOO �"0�+++ "0+!?� OOO "0" ?" OOO �=����������� 9����� +�+�"
G"0"�+*H �"0" �� G"0���"H G"0"�+�H ��������� ��!??

L�������� �"0��!* O �"0*??? "0���� �0+��� OOO �=����������� '�(�� *�+? 
G"0"� ?H "0""?! G"0���+H G"0�! *H ��������� �����

;���
�6� �"0�!�? OOO �"0**?? "0*+  "0!?�" OOO �=����������� '�(�� +���*
G"0"+? H �"0"�+? G"0+"*�H G"0"  �H ��������� ��?�?

B��2� �"0�"!� OO �"0�?++ "0!!�* �0*�? OOO �=����������� '�(�� ��??+
G"0"���H �"0"� � G"0�?*?H G"0�"+�H ��������� ?�+ "

L��
� �"0��"� OOO �"0�?!� �0�+?! OOO �"0�+�" OOO �=����������� 9����� *�"�?
G"0"*"�H �"0" !+ G"0+ ��H G"0"*"�H ��������� +� "�

5��
� �"0"��� O �"0�! � "0�*! O �"0�"+" OOO �=����������� 9����� ��*
G"0"��+H "0""+! G"0+ �?H G"0"+�+H ��������� �� +�

=3���
� �"0"!�" OO �"0�"� �"0�!"! "0"! � OO �=����������� '�(��  �?
G"0"*�*H �"0""�� G"0*??�H G"0"*�*H ��������� +�!��

;���� �"0"�?" OO �"0�+�+ "0�**? "0!"+ OOO �=����������� '�(�� ��� �
G"0"+� H �"0""�� G"0*� �H G"0"*+�H ��������� +����

G�H,���������
G
H�'�����S

B3����������
G�H=$9

G3H?!F


���0=������%0
G/H9B@ G�H5=4, G�HE������



���

�

�

-	���-� � �

�0�OOO��OO������O�����/������
����/��/������F��!F�������"F�%���%�����/�������/��������/����%�0�
*0� $��� ������ ���� ��/���� ��6�� ������ CG3H� ?!F� 
���0� =������%0D� ���� ���� %�6��� ���� ������

3��������������������%������������������/����%�0�
+0�$���������6�����CG
H�'���������B3����������D������������3����������%������������������

3�%�6�����������3�������3����������0�

�

.�� /	
�����
����(
����

�

� $���� ������ ���������� ���� ������� ��� ����� ������
� ��� ���

�����������������/������
���
����%����������/�������������������
����2������

#����0�$���%�����
����2���� ����������%������������������������������������

������%%���/�����R���������3�/������������%������������������%��
������3������

��3%�/%��%�����������0�$������2�������%�/�%�/�����������%���������
�����������

�����������0� $���� ������ ���� ������/�%%�� ���6�� 6���� ���� /������� ��6�

���������%� ��
����%� ������
� ������� ����6���� ���� ���� ��� ���� ������������

3��2��
� ���2���0� B�� ���� 3����� ��� ���� ������/�%� ��������� 6�� ������ �����

����%����
� ���������%� �

%����������� ���� �����/��
� ���� ���3�%���� ���

3��2��
���/��������%�����
����2����6������/���������7���������0�

� B��� ��� ���� ����� ���������� ����%��� ��� ����� ������ ��� ����� ������
�

������������������������
����������������%��

%��������������������
����%�

�/�����0������/�%��%���������/���������3%�/%����%�������������6�������������

���� �������/���������������� /�����%����/2�6����3����6��
� ������ ��
����/���%��

���%���/��� ���� ��
����%� ��(��� ������ ����������0� $���������� ���� ��%�� ��� ����

/�����%� ���/2� ��� �������%�� ���������� ��� �����%����
� ���� ������� ����

/��������� ������
� ��� ��
����0� $����� ������/�%� ���%����� ��

���� ����� ����

��
�� ��
���� ��� ���������%� �

%����������� ��� �� ��7������ /��������� ��6����

�/������
���%�/��
��%�0�

� @������� ���������� ����%�� ��� ����������� ��� �����������������������

$�2������ �"0�"�* �"0*�*+ "0*!*� �0�"* OOO �=����������� '�(�� �??
G"0" �*H "0"�? G"0 ���H G"0*"+ H ��������� �� ��

������2� �"0�!�" �"0+ �? �"0 ��+ �0*�!+ OOO �=����������� 9�����  �*
G"0�� �H "0"�?" G"0�!�?H G"0�?*�H ��������� *�"�+

L�22���� "0"!+" �"0"*�? �"0��?� �0+*+! OOO �=����������� '�(�� !��*"
G"0"��+H "0�++? G"0+*� H G"0�**�H ���������  �?? 

=6��� �"0��"* OO �"0*"!+ "0*!� "0�!? OOO �=����������� '�(�� ��!��
G"0"� !H �"0"�!� G"0*?��H G"0����H ��������� +�!!!

;�/�� �"0""+� �"0�!+" "0���� "0 ��� OOO �=����������� '�(�� �+�
G"0"��*H "0���* G"0?�*+H G"0*� ?H ��������� ��!�+

5������ �"0"+ + �"0*!"+ �"0� !? "0? ?� OOO �=����������� '�(��  �+
G"0"��?H "0��+� G"0�"� H G"0�?�+H ��������� *���+

;������� �"0"  + �"0*+�� "0�! � "0�?"� OOO �=����������� '�(�� ���� 
G"0"���H "0"��" G"0�?��H G"0� � H ��������� *�!?�

5�
� �"0**!+ �"0���* �+0���* OOO �0+�"� OOO �=����������� '�(�� !"�
G"0*�"!H "0" +� G�0�*+?H G"0*�!�H ��������� ��" "

B2���6� �"0�""+ �"0***" �0!�++ O "0��!! OOO �=����������� '�(�� ���� 
G"0"�*"H "0"*�� G"0?*�!H G"0�!?*H ��������� *���"

	��� �"0*�?* OOO �"0�+�� "0?��� OO "0!��� OOO �=����������� '�(�� ��!

G"0" " H �"0�*" G"0 ��?H G"0� �+H ��������� ��� "

G�H,���������
G
H�'�����S

B3����������
G�H=$9

G3H?!F


���0=������%0
G/H9B@ G�H5=4, G�HE������



���

�

������%����������3��6������
����%�3��2��
����2������3�%������������������
�

������� �������
����6�����%������������0�I����������/�%%������������������

������ 3��2��
� ���2���� ���� %�6��� ��������� ������ ��� ��3�� ���� ����� ����

������������� �������/���������3%��3��6���� ���������3%������������ %�����
�

���������3��2��
����3�%���������
����/��������������������������������3��2�%���0�

$���������� %�6����
� ��%�/�� ��������� /���%��� 6���� ���� 3��2��
� ����������

���%���/��� ���� ��������� �%����/���� ��� ������� ��� 3����6���0� L�6������

�//�����
��������������/�%�����%���������������������������������%�������
�

�3�%���N�0�0�� 9B@N���� ���� ����� ���� ���� ��%���� ��� ���� ���(�� ��� �(�����%�

������
�������N�0�0�� ��(��������� �������������/�����0� =�� �������3�%���� �����

/��������� ������� ��� ������� ��� 
�����%%�� ���%���/��� 3�� ���� 3��������

���������/�� ����%�� ���� ����� ���� %���%� ��� ���� ��%�/�� ��������� ����� ��� ���� ���

������������/�����������������
��(�����%�������
��������0�

� B�� ���� 3����� ��� ���� �3���� ������/�%� ����%���� 6�� �������� ����

��%%�6��
�/��/%������0�$�����
����%�����������������������%����/�������������
�

������� �������� ��� ���� ��
���� ��� ���������%� �

%����������� ���� ����

3��2��
� ���2��� ���3�%���� �/����� ���� ��
����0� $���� ������ ����� ��� ������ ���

�����%����������
����%�������
������������������������������%���%�/��������

3��2��
� ������������ ��� ���� ��
����� ���� ��/������0� =�� ������6������ ��/�����

����� ��/������ ���� ��������� �%����/���� ��� ������
� ������� ���� ��� 3���� ����

���������������%����������������
����%�������������
����2��0�

� @�
�����(���%��������������������/��/%����������6����������������

��� �����6�%%����������
� ��
����%� 3��2�� ��/������ 
���� �����/��%� ����%��� ���

*""?0�$���<��2������2������8��0��
��3��<��2�8��0��L���������<��2�8��0��

5�����2�� <��2� 8��0�� ���� 5���
�� <��2� 8��0� ���� �(���%��� ��� ������ 6�%%�

���������
�3��2�0�$�������7�������������%%����������3��2������%�/������������

��
����� 6����� ���������%� �

%����������� ����� �������/�%%�� ���
������0�

5��/�� ���� /�����%� ���/2� ���������/�����
� ����������� ���� ��/������� ��� ��/��

��
������������3�������������%���������������%�����������%�����/������0�=��

��������
������3��2��
����2���/����������������%���3�������������3�/�����

���������� G�0�0�� 3��2�� ����� ���� $�2��� ����� ���� ���
�3����
� �����/�����H�

����� �����/������� ��� ���� ���2��0� =�� ������ ������� /����������� ���2���

���������������������/�����������������
���
����%�3��2������(������������

���2���0� @�� �� ����%��� ���� �(�����
� ��
����%� 3��2�� ���� ��
�%�� ����/����� ����

/����������0�

� $���� ������ ���%����� ��6� ���������%� �����3%��� ��� �(�%���� ����

������������������
����%����������/���������������
�������0�@//���%�����

��������/�����%����/2���������(���������������%��

%���������������������������

�����3%��0�$���������3%������%������%���/���3����������������3%�/�/�����%����/2��

3��� ����� ������ ���� ���� ������� ���� ��%���������� 3��6���� ���������%�

�

%����������� ���� ���� ����� ��� ��3%�/� /�����%� ���/20�I�� ����� /��/%�����

����� ��%���%�� ��7���������� ���� ������� ��� ��/������ ��
����%� ������
�



�	�

�

������0� '������ �������� ����%�� �(������ ��6� ���� ��3%�/� ��/���� ���������

/�����3����������
����%�������
�������0�

�

������
���
�
<������ #0� <0� G�?��H�� C@����������������%� ��� 9�
����%� <�������� 
�/%���D� ���� �!� �"�
�#$�� �!��%�# %#�������0!���+0�
�

��%�����:0� ����90�E�'����� G�??!H��C9�
����%� =�/����E�����/��D� ���� �!� �"�&�'� �
�%� �(�%)�+�����0�  ��"�0� �
�

��%�����:0�����90�E�'����� G�?? H��C$���E����������%�9�
����%�,���/���������������
��%�/��D��*#��#+�#,��"��%� �(�%)�� -������)��%)� "����0!�*�! �0� �
�

��%�����:0�����90�E�'����� G�???H��C$���E����������%�9�
����%�,���/���������������
��%�/�-�,�����/������������������5�����0�D����� �!��"��#$�� �!��%�# %#�./����0++?�+! 0� �
�
<�����2���<0��50�����@0�50�<%�������G�?  H��C
�����������������@

��
����E������D�
@����/���,/�����/�9����6����������������/�����
��� ����0��+!��+?0�
�
<�����2���<0��50�G�??+H��C
���������������/���/������D��#-#��!��#)#�+#�0� 1��"�2#,�
���1�3����#�!4��#+�#,�������
��??+����0�!"��"0�
�
'������������ �0� ���� 50� 5/����� G*""+H�� C��������� ��%�/��� L�����
�� ����
L�����
�������9�
����%����2���D����� �!��"��� #4	���#-��	�� -�0� 1� $	�J�%0�+!��	�0�
�0���0�!!��! ?0�
�
:��������� 
0� <0�� ���� L0� 50� 
���
�� G�?�?H�� C$��� ,���/��� ��� ��������� '��/��� ���
9�
����%�,/�����/�@/�������D����� �!��"��#$�� �!��%�# %#��?����0��!�*?0�
�
:���%�����0�� ����50�:�%/������� G�??+H�� C$���9�%�� ���
���������2��� =������/������ ���
��������� $������������ ��/������-� @�
������� ���� ,�����/��D� �%� -� �+�� �
���� �!��"��%� �(�%)��?!����0��+���0� �
�
L����� �0� ���� L0� ;���2��� G*""+H�� C<��2� 5��������� ���� ���� 9�
����%� ,/�����-�
,�����/�������9�
����%�E�����D�G���#�������H��������)%�))�� ���5#��	�0�+ 0�
�
L������� ;0� G*""�H�� C$��� $��������������/������� ��� ��������� ��%�/�� ��� #����-�
,�����/�� ����� <��2�K� <�%��/�� 5������D� ���� �!� �"� �*#� ��5� #)#� � -� � �#� ���� �!�
�%� �(�#)	�*"����0�+ "��"!0� �
�
=���2�6��� $0�� G*"""H�� C8��
������ $����� ��� �������� ���� 5�/��%� 
�����%� 5��/2� ��� ���
�����/������D�26���#)#��%*��#5�����J�%0��!0����0��+?0� �
�
;��������@0�;0� ���� #0�
0� 5������ G�??�H�� C$��� =���/�� ������������ ��%�/�� ���<��2�
<�%��/��5������D�2���� �!�0�#����"�#%� �(�%��#)#��%*	�7��1� $���5#��� *�0�
�
��������J0� ����50�5������ G�? "H��C9�
����%� =���/�������������������'��/�%��%�/�-�
@��=������
���������������9���/���'����@�����/��D����� �!��"��#$�� �!��%�# %#�*"��
��0+�+�+!�0�
�
������� 
0� 80� ���� #0� �0� L�%%�� G�? *H�� C=������
����%� @�3����
�� ���� ���� 5���%�� ���
8����3%��'�����D����� �!��"��#$�� �!��%�# %#��**����0��??�!�*0� �
�
8�����0�L0� �����0�	�
����� G*"" H�� C���2��� 
����������� <������ ����@����� <��2�
���
���I���-�@�
�����������5��������;���������#����D����%�"�%��%� �(�%��#+�#,��
=�����!��J�%�����+0���0�"����?0�
�



�
�

�

	����� ;0�� G*""�H�� C<��2� ���������/�� ���� ���� 9�
����%� ,/�����-� 5����

�������������� ���� ���� '����/��%� E�������
� ��� 9�
����%� ,/��������D� �0� $�������
���� 50� ������� ���0�� �#!���� )*�5� 0� 1� $� � -� �#$�� �!� 0� 1� $� �4)�#(	�
����2������5��������0�
�
B%������ 50�� ���� :0� E0� 9���3��/�� G�??!H�� C=�� $����� �� <��2� 8�����
� 
�����%� ����
�����������%�/�AD��#-#��!��#)#�+#�0� 1��"��� ���� %�)%���%� �(�%��#+�#,���0*�*�0� �
�
B6���
���0�$0�����L0�#0�I�%%��G*""!H��C5���/����%�<���2������9�
����%�E�����������
�������$��������������������������%�/��D�7��1� $���5#��899.:99;�� � �#-#��!��#)#�+#�
0� 1��"���<�6���)<� �
�
5/���2�� E0� 80�� G*""+H�� C$��� E����������%� =���/��� ��� ��������� ��%�/�-� @��� ����
��������/���E��������
A�D���5#�)�� ��#$�� �!��%�# %#�J�%0� �0��=����������0��*���+�0� �
�
$��%�� I0� E0� G�?��H�� C9�
����%� =���/��� ��� ��������� ���� '��/�%� ��%�/���� ��� ����
����6���������-�5����=�����%�$�����D��#-#��!��#)#�+#�0� 1��"���!� ���7��1� $���5#�0� �
�
�/������L0� �����0�$�������� G*""!H� TL���
����������� ��� ���� #��������<��2��
�
5�/���� =�������A�T� ���� �!� �"� 0� 1� $� =� �� � %#�� ��%0� *?G*H�� ��
��� ��?��+?��
'�3�����0�
�

� �



���

�

����
��"��*�����-�(����	��)
(�����

������&��������0��)�
��������

�
� $��� ��%%�6��
� ��������/�� ���� ���� ���3��� ��� ������ ���%����� ���� ����
������/�%����%����0�E��/����������������/�����$�3%��@*����������%%�����%���������0� �
�

�
������� -�(����	��)
(����1��(����������������

�
	���-�@�����������3%���������������������/��������������/�%����%����������������������
��/������!0������!0*���������/����������6�����������3������������3��������%��0�

�

��%������'���� 8������'���� ��%������'���� 8������'����

L�22����  �+�� �? 5��
� �!! ��
@����� ���� � ;���� ?�� �?
=6��� ����? + B��2� ����" !!�
����
� *�� � �� L��
� +��"! ���
@2���  �? + 	��� � � �
����
��� ��!?! + I�2����� �"� �
'�2������ �� �+  

$������ �!" +
=3���
� �?� �� 5������  ?� �
$�/��
� ��" � �" B2����� ���?� ��
:���� ���"? � L�������� ����� ��
5������ ��?+" !� ����
�/�� ?"+ ��

��3� *��*� +�
$�2�� �+� �" ���?" $�2������ �  �
;���
�6� +�"! � * ;�
�6� ��*++ �?

,���� *�"�? �"
	��
��� +�+** +" ;�/�� ��� !
$����� ��+*" *!
=���2�6� *�!�� *� '�2��2� ��+*" ��
'�2�� ��+� �� 5�
� !?" +
��������� !�� � 	�
���2� ����* !
	�
��� *�!? *! ;������� ��?�* �
:��� ����� *� B��� *�"?* �
5�����2� !�"�� �? ������2�  � +
@�/�� ��*! *�* ;�
������ ��*�? �
��� ���?? �! B2���6� *��� �



���

�

�
����� � &��������0��)�
��������

�

�

�

����
��"� !*�&�0�
��	
� )�	���� 	�� ���0
��� /
���
�� )�	��� ���� /
���
� 

��

!

��
���
�����$����
�
��2$����(

��
��"�

�
� I�� ���������� ���� ��������� �%����/���� ��� ������
� ������� ��� �6�����
�����/������6������������������%���������*""+>*""�0�$��������/����������/���������
����3�������� ��������%������������/�����
�����3�%�6���� ������������/�����%����/2�����
/��������������3��2��
����2���LL=0�

�

���� 5�� ��( ���

=&;

��%������'���� ��0� ? �0�"* �0�"� ��+0�!+
8������'���� �*0"?+ �0+?� �0�+" ��"0"�?

E=9

��%������'���� ��0�+ �0"�� "0!�� ��+0??�
8������'���� �!0�*? �0��� *0 ?" ��*0" "

9B@

��%������'���� "0"** "0"??  0!+� �!0+�+
8������'���� "0"�! "0�*� "0�!� ���0��*

E,9

��%������'���� �"0+�! "0�+" +0� + ��0?? 
8������'���� �"0�"* "0!�� !0?!� ��0?�?

@55,$

��%������'����  0+�� �0!"" �!0"�" �0+ "
8������'���� �"0�"" �0�+" ��0*?? +0���

�':

9�
����%�E��� "0**" "0" � "0�*" "0"��

5$;

9�
����%�E��� �0?*� "0**! *0!*� �0�*+

9=

9�
����%�E��� "0"*? "0""! "0"�� "0""?


@9

9�
����%�E���  0��* +0"�� ��0 �" "0�!�


��

9�
����%�E��� "0*+� "0�+" "0��* "0""!

������%�
����������/����%������/�������������/�����
���/�������
����������/����%������/�

G/�����������H

������%�%�
������������(������
�3%��������������/������G/�����������H��%��������/������

�(������G/�����������H���������3����(������
�3%���������G�������������H����������

������%�%�
����������������������������G/�����������H���������3��3��2�%�������������

�����������G�������������H���������3������%��������G�������������H����������

������%�%�
��������������%���3��G������������H���������3������%�/�����%�G�������������H���

������

������%�%�
��������������%��������G������������H����������

����������
����%�/�����%����/2���������3��
����������/����%������/�������/�������/����

G/�����������H

���%������������������%�����
�����������/�������/�����G/�����������H

6��
����������
�����/�����%����7��/������������/�����/��%�3��2����
�����������	������%

<��2��K��@���/������������/�������/�����6���������3��2�����7��������3��2���%����������%

������������������������6��
���G/�����������H

L��������%�L���/�����=���(������
����%�3��2�%�����
�����������
������/�������/����

G/�����������H



���

�

$�3%��<0� � $��������"���������%�6�����"�E���������5/����������������
�����%�

5��/2�����
����������<��2��
����2���L��������%�L��������=���(�

�
	���-�$����3���������������/���������/�%/�%�����3������
������
�������������������

/�����%����/2�����/����������3��2��
����2���LL=�����???>*""��3�������/����0�

�H���������
�����%�5��/2

��������3������%�����

*H�LL=����<��2��


���2��
+H�$���%

� @�/�� �!0+ ��0 �!"0�
* $�2�� ?�0� !�0� ���0*
+ 5�����2�  �0� ��0? �*?0!
� L�������� ��0? ! 0* �*"0�
! ;���
�6� ��0! ��0� �� 0+
� B��2� ��0+ �?0� ���0 
� L��
� ��0! �*0? �"?0�
 5��
� ��0! ��0� �"�0?
? =3���
� ��0" �"0? �"�0?
�" ;���� ��0" �"0� �"�0�

+ $�2������ �!0� ��0+ ?�0�
+? ������2� ��0 ��0! ?�0+
�" L�22���� + 0+ !�0 ?"0�
�� =6��� �*0! ��0?  ?0+
�* ;�/�� �"0? ��0*   0�
�+ 5������ +?0 ��0�  �0!
�� ;������� + 0! ��0�  �0?
�! 5�
� +�0 ��0"  +0�
�� B2���6� +!0� ��0"  �0�
�� 	��� ++0! ��0�  "0�


